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ECONOMICS
[ General ]
PAPER —I
Full Marks : 90
Time : 3 hours

The figures in the right-hand margin indicate marks

Candidates are required (o give their answers in their
. own words as far as practicable

Illustrate the answers wherever necessary

FIRSTHALF
(Micro Economics)
[ Marks : 45 ]
GROUP - A
| 1. Answer any five questions : 2x5

(@) Define Microeconomics.
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(2)

{b) What is the law of Diminishing Marginal
utility ?

{¢) What are the conditions of equilibrium of a
firm ?

(d) Whatdo you understand by substitution
effect ?

(e) Distinguish between fixed cost and variable
cost.

(/) What do you mean by short-run and long-run
of a firm ?

(g) What do you understand by monopolistically
competitive market ?

(h) What is the difference between gross profit
and net profit ?

GROUP - B
Answer any three questions : §x3

2. With the help of a diagram explain circular flow
of income and expenditure.

L
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(3)

State the relationship between Average Cost (AC)
and Marginal Cost (MC) with the help of a
diagram. - 5

Explain the concepts of returns to a factor and
returns to scale. . 5

What is 'price discrimination'? State the

- equilibrium conditions of a 'discriminating
. monopolist'.  2+3

Discuss producer's equilibrium with the help of

isoquant. : : 5

Briefly discuss Ricardian theory of rent. 5
GROUP - C

Answér any two guestions : 10%x2

What is an indifference curve ? What is a budget
line ? Explain the equilibrium of a consumer with
the help of indifference curve analysis. 2+2+6

‘Discuss the law of variable proportion.l 10
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(4)

10. Explain with diagram. shortrun and long run
equilibrium of a firm in a perfectly competitive
market. 6+4

11. What do you mean by monopolistic firm ? Discuss
the equilibrium conditions of a monopolistic
~firm. 4+6

SECONDHALF
(Indian. Economics -1)
[ Marks 145 ]
| GROUP - A

1. Answer ényﬁve questions : 2%x5

(@) What do you mean by 'Theory of Demo-
graphic Transition' ?

() What were the objectives of land reforms in
India?

(¢) Give the full forms of BIFR and SIDBI.
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(5)

" (d) Mention two steps taken by the Government
} of India to reduce inequality in income
distribution.

(e) What is privatization ?
| (f) Give some features of underdevelopment.

- (g) Mention four major unemployment alleviation
programmes adopted in India.

(k) What are the major sources of rural credit
in india.

~ GROUP —B

Answer any three questions : _ 5 %3

2. What are the basic characteristics of the Indian
economy ? . 5

3 Mention the r_eé;Sons behind the slow progress
of the land reform programmes in India. 5
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(6)

4. Define service sector and write the importance
of service sector in Indian economy. 2+3

5. Discuss briefly the methods of solution of = -
Industrial disputes in India. o -5

6. What are the causes of low rates of growth in the
mangfacturing sector of India. 5

7. Do you support the policy of disinvestment i in
public sector industries of India ? Give reasons

in favour of your answer. ' 5
GROUP —-C
Answer any two questions : - 10x2

8. Discuss the problems of National Income
measurement in India. | 10

9. Discuss the features of new industrial policy of
India. _ 10

10. What are the features of land reform in India ?
Discuss.its impact on Indian agriculture. 10
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(7))

‘11‘ What is 'Poverty line'? Discuss the poverty

| alleviation programmes adopted by the Government
. ofIndia. ) . ' 2+8
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